)\Igebra ll: Chapter 7 Review
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Graph the ﬁunction, identify the asymptote, and state the domain and range.
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Solve. Formulas are given below.
; nt
A=P(1+H] y=a(1-r) A = pe"
l
5. You deposit $500 in an account that pays 3% annual interest compounded

contiriluously. What is thibalazgse after 2 years?

A = 500 %) o 52092

6. A new all-terrain vehicle (ATV) costs $800. The value of the ATV decreases by 10%

each year. What is the value of the ATV after 5 years? (Hint: Use.)
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1. You deposit $3000 in a savings account that pays 3.12% annual interest. If the
account compounds monthly, how long will it take for the account to reach $4000 to
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the nearest year?
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Find the inverse function.
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Expand the expression.
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Condense;the expression.
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Solve the equation.
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